® 365

@ 92

22
Soa+b=18+407 = 425

7 o 11 e
a =55 = 0318 A8, b = o = 0.407, & 407




the % oA TP 2 4

@ 3.49 @ 3.49 3)3.5 @ 3.509 ® 3.54

B

@ 3.499999- - -
@ 3.494949- - -
® 3.555555: - -
@ 3.509509- - -
® 3.545454. - -




M
Hi

o

o}
olig
Nfo

ojn

® 02 fe47} ok,

ul
RO

A




a_ a
12 22x3
a_ a
45 32x5

a = 3132 o Hagujgeolrt
a=32=9




D 1.8 @ 1.08 ® 1.83

@®)1.83

® 1.803

11+6=1.83333--- = 1.83




i)
oo
ofn
8o
Mo
Y
Mo

2

® 3i7 =3 @ 231 = 232
® 1057 = 0710 @ 0.0913 = igo
y _512—9%1 -
@5.12 S
B
.. 317-3
D317 = —5
o 2134-2
@ 2134 = —5
.. 1057 -10
® 1057 = —5o-—
. 913-9
@ 0.0913 = =




7. Ax03=3.6%Y 0, A2 3t29

@ 5 @ 7 ® 9 @ 11 ® 13

Ax03=236
3 36-3

Axo =22
9 9




17
12

22x3x5

il
KO

A

J
RK

il

to] Errt2 oF 5 Mol B

E5

oF
o}

Q

13

10

L

T 2% 3x52
17

22 %3

7
150
17

12

©

©

3XT
22x5
3

22 x5

@
©




..._“_..u
KO




10.

52 sagm UEe o, 247 okl 2 WA Aele) 57
B A% ol 50 HA) 2] o] At @] g8 st at,

1—53 = 0.384615 0] 2.2 &3Hatr] o] 5=} 6 7

50 =6x8+2°|B& (3+8+4+6+1+5)x8+(3+8) =227




